[papmK PpyHKUMKN Y = sin

X °r

y =sinx




[padpuKk PYHKUUN Y = cos

X °r

y=cos Xx




[padpuK PyHKUUN Y = 2 sin

X g

y=2sinx




[padpuk pyHKUMM y = 0,5 cos
X ot

|4 y =cos x




[padpukn pyHKUMK Yy =2,5sinx UYy=-2,5sin X

y=2_8sinx y =-2,6 sinx 1
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pagpuk pyHKUUU y = Sin E X

y =sinx




[padpmK PyHKUMWN VY = sin
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[padpuKk PYHKUUN Y = cos
3X

2._
y=cos x y=cos3x
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CamocTtoaTenbHaa paborta
Ne 16
BapuvaHT |

6._

y =cos




CamocTossTenbHaa pabota Ne 16
BapuanTt II

{-7 y =-sin 3x




[padpuKk PyHKUUN Y = g

X °r




[padpuk pyHKUUK Y = Ctg
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